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「全統共通テスト｣模試｢見直し｣プリント
（編）八幡成人

★テストは終わった直後に「見直す」ことで初めて力がつく。「やりっ放し」の人は同じ事を何度も間違える。この差が大きいのだ！｢微差は大差を生む」 「賢者は歴史に学ぶ」（ビスマルク）の姿勢を貫け！

第１問Ａ メモ CEFRＡ１ 各２点 ４点 ※従来のセンター試験通り
★必要な情報を素早く読み取る

問１《易》You were right, Takeshi. I felt like I could see the forest and hear the birds calling back
and forth to each other. I was so eager to find out what happens to the characters that I could
not stop reading. Also, I found the main character very funny.（タケシ、キミの言った通りだっ
た。森が見えて鳥が互いにさえずっているのが聞こえるような感じがした。登場人物に何が起
こるのか知りたくて知りたくて、読むのをやめられなかったよ。それに主人公は本当に愉快だ
ったよ。）から③「その本に感動した」が正解と分かる。

問２《易》I think you and I have the same taste in books, and I would love to get together to talk
about the book. I would also like to hear about other authors that you like. Let me know if you
want to meet and have a chat after school sometime.（君と僕は本の諸見が同じだと思うから、
この本について会って話がしたいな。君が好きな他の作家についても聞いてみたいし。いつか
放課後会って話がしたいんだけれど、どうだろうか知らせて欲しい。）と述べているので、②「い
つか自分と話をすることに興味がある」かどうか知りたがっている。

第１問Ｂ お知らせ Ａ２ 各２点 ６点 ※センター試験通り

問１ 最初に The international citizens of our town are invited to learn more about rakugo, a
traditional way of telling stories in Japanese culture./ The festival will also feature talks by
experts on the rakugo art form.（落語について知ってもらいたい／専門家による落語の講演会
も企画)とあるので、④「語りの上演と講演」を選ぶ。複数の該当箇所。

問２ スケジュール表を見ると、１１月２１日には「古典落語」（Traditional Stories）が、２２
日には「新作落語」（New Rakugo）が演じられることが分かる。したがって、①「古い落語と
新しい落語の両方を聞く」が正解。表をよく観察せよ！

問３ The fee for each event is 500 yen. There is also a festival pass available for 1,600 yen,
which covers the fees for all four events./ To buy a festival pass, drop in at our box office located
in the Hill Theater.（各入場料は５００円。全部の通し券は１，６００円。／通し券の購入は、
ヒルシアター内のチケット売り場まで。）とあるので、③｢ヒルシアターへ行って通し券を買う｣
が正解。複数の該当箇所を参照して答えるのは「共通テスト」の新たな特徴。

第２問Ａ ウェブサイト Ａ１ 各２点 １０点
★客観的事実と主観的意見の識別

問１ My mother taught me how to use these techniques to create some nice designs for my walls.
（母が私の部屋の壁を素敵にデザインするためのこれらの技術の使い方を教えてくれた）とあ
るので、①「自宅を飾るのに何かを作りたい」なら、この工芸を試してみるのもよい。

問２《易》Let the ink dry indoors for 8 hours./ Let the paste dry indoors for 4 hours./ Let the cloth
dry indoors for 10 hours./ Let the dye dry indoors for 2 hours.（８＋４＋１０＋２＝２４時間）
. dye：染料 したがって④｢２４時間｣が正解。数字を足していくだけの計算問題。

問３ 《難》Traditional designs include birds, leaves, and flowers.（鳥、葉、花を含む→自然）
昔ながらのやり方で作りたいのなら②「自然を題材とした柄を描く」ことになる。鳥・葉・花

を「自然」と総称でまとめられることに気づけるか？判断力・思考力が試される。

問４ 新傾向 This traditional method has been used to make beautiful designs on kimonos in
Japan since the late 1600s.（この伝統的な技法は１６００年代後半から日本の着物デザインに
用いられてきた） とあるので、「事実」は③「３００年以上の歴史がある」「事実」は数値化で
きるのがポイント。「事実」と「意見」を識別できるか？重要

問５ 新傾向 レビュー＆コメント欄の２人目 Often the materials in American stores are not
high quality. I always order the aobana ink online from Japan.（アメリカの店で入手出来る材料
は質が良くないことが多い。そこで私はいつも青花インクをネットで日本から取り寄せている。）
とあるので、「意見」は②「材料の中には日本で作られたものの方がよいものがある」が正解。
「意見」は形容詞・助動詞で導かれることが多いことも知っておく。

第２問Ｂ 記事 Ａ２ 各２点 １０点
問１ School cafeteria workers also package unserved food into frozen meals that students can
take home on Fridays and eat over the weekend.（余った食品を冷凍にして、生徒はそれを持ち
帰り週末に食べることができる）とあるので、①「土曜日と日曜日に学校の食堂の食事を食べ
る」が正解。

問２ 新傾向 "I hated getting rid of good food in the cafeteria for so many years."（長年食堂のま
だ食べられる食材を廃棄処分することが嫌だった）とある。「意見」としては②「まだ食べられ
る食品を捨てると嫌な気分になる」を選ぶ。

問３ 《難》“While students are not supposed to put food there that can spoil, I'm sure they'll do it
anyway."（生徒は傷む可能性のある食品をそこに置いてはいけないことになっていますが、そ
れでもやはり置くに決まっている）とあるのは、②「子どもたちはシェアテーブルの安全面で
の慣行に従わないだろう」が言い換え。

問４ エレナ・クルーズさんは、「長年まだ食べられる食品を廃棄処分するのが嫌でした」と言
っているので、長い間待ち望んでいたことが分かる。したがって、②「ずっと早く始められる
べきだった」が正解。判断力・思考力を問う。

＜一部理解＞

問５ 新傾向 コメント欄に、I understand the concerns about food spoiling, but this program
is worth considering because food waste is so bad for the environment. I think Florida schools must
educate kids carefully about food safety. If they do, the program will work well. （食品が傷むことに
ついての懸念は分かるが、検討に値する。環境にはとても悪いので。教育すればうまくいくと
思う）と言っているので、フロリダの親が述べたことに一定の理解を示している。したがって、
②「一部賛成している」が正解。

第３問Ａ ブログ Ａ１ 各２点 ４点
★概要把握問題

問１ The people who worked there were asking visitors to suggest names for all of the new
arrivals.（動物園で働く人々は来園者に生まれた赤ちゃんに名前をつけてくださいと求めてい
た）とあるので、④｢来園者は動物の赤ちゃんの名前を提案するように求められた｣が正解。

問２ Actually, I had never been to a zoo./ I thought the cutest baby animal was one that was all
one color. I suggested that zoo name it "Crow" for the color.（動物園に行くのは初めてだった。／
一番可愛い赤ちゃんは全身一色の赤ちゃんだと思った。色にちなんで「カラス」と名付けるよ
うに提案した）イラスト写真を見ると、全身一色の赤ちゃんはクマだと分かるので（？）、④「生
まれて初めて動物園に行き、クマの赤ちゃんが好きになった」を選ぶ。いまいちイラストがよ
くないが（犬？）。こうして複数の箇所を総合して答えるのが「共通テスト」の新しい特徴。
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第３問Ｂ ブログ Ａ２ 各２点 ６点

問１ 新傾向 ここだけは選択肢も先読み！感情の変化を時系列で追いかけると、she was afraid
(concerned)→Mary was pleased(happy)→ she was shocked(surprised)→ she was sure it had turned
out great(confident)→Mary almost started crying(upset) ★三番目まで決まった段階で答えは出
ている！ ②が正解。

問２ When she bought the ingredients, she was shocked that beef was so expensive in Japan.（牛
肉が異様に高いことにビックリした）とあるので、④「食べ物の中には彼女が思っていたより
もお金がかかるものがある」が正解。

問３ But as she was placing the pie on the table, she bumped into a chair and dropped the pie on the
floor. It broke open, and meat and vegetable went everywhere./ Together, everyone cleaned up the
mess, and the volunteers took Mary to a nearby restaurant, where everyone enjoyed eating and
talking.（パイを床に落としてぐちゃぐちゃ→近くのレストランに連れて行ってもらい楽しんだ）
から、①｢自分が作った料理を誤って台無しにして、先生たちと外食しに出かけた」が正解。

＝★ここから難しくなる！ 時間がかかる！★＝

第４問 読解問題 グラフ Ｂ１ ３，４点 １６点
★複数の意見の「共通点」と「相違点」を的確に捉える

問１《難》 Despite the progress of our social values, many people in my country still think that the
woman's role is to cook and clean the home. People also see children as a kind of wealth and having
many children can increase one's social status.（①） For instance, if most of the population of a
country is made up of older retired people, the country's economy can suffer because there are not
enough young people to work and support them.（②） In my opinion, developed nations with
decreasing birth rates should accept young people from nations with higher fertility rates to make their
economies stable.（③）したがって、どちらにも書かれていないのは④。ここだけは選択肢も先読み。

問２ According to Ryan McKinley's article, my region had one of the highest average fertility
rates per woman in 1960. But by 2015, that rate had fallen to around 4.7.これに相当するグラフ
は①｢アフリカ｣。本文とグラフを関連づけて読む力が試される。

問３《難》 One reason is that in many parts of the world women have become more educated and
are spending more time at work./ In my country, more and more women graduate from high
school and seek a university education every year. → A「より多く学校へ通うようになった」
Another reason is that today's advanced medical equipment and procedures help prevent a lot of
deaths during birth and early childhood.→ C「高度な医療をより利用しやすくなった」なぜだ？

問４《難》Furthermore, employers should encourage women to have children by offering them
paid time off in late pregnancy and after giving birth.→②「雇用者による経済支援によって影響
を受けるだろう」Thankfully, our culture values will likely keep the fertility rate from continuing
to fall too quickly.→④｢場所によっては急速に低下し続けることはないかもしれない」

問５ ２つの英文のタイトルに注目！ The World's Decreasing Fertility Rate/ Opinion on “The
World's Decreasing Fertility Rate”→④「なぜ世界中で女性が産む子どもの数が減ってきているのか」

第５問 読解問題 伝記 Ｂ１ 各５点 ２０点
★文章全体のテーマを考えて

問１ 新傾向 After William Wallace died, Robert Bruce declared himself the Scottish king in 1306.
(②)→ In response, Edward Ⅰ captured Bruce's wife and killed his brother.（④）→Over the next eight
years, Bruce united groups from across Scotland to engage in numerous battles against EdwardⅡ.（①）
→ The war finally ended in 1313, with a decisive victory for Robert Bruce at the Battle of Bannockburn.
(③)→Soon after, in 1327, EdwardⅡ was replaced by EdwardⅢ.（⑤）面倒くさいが。出来事を時系列で。

問２《難》 Bruce considered leaving Scotland altogether to fight with the Crusaders against the
enemies of Christianity in the Holy Land.（A） Bruce knew that many Scottish people had shed
blood in pursuit of this goal, including his own brother.（D) したがって③が正解。

問３ The spider was trying to swing itself over to another beam ...The seventh time, as Bruce
watched, the spider swung itself forward and reached the other beam.の部分をしっかり読む。②「彼
はクモが何度も失敗したのちに成功するのを見た」

問４《やや難》 The Pope approved this request in 1324.（F） This new king gave
up the English claim to Scotland and signed a peace treaty with Robert Bruce.（B）

第６問Ａ 読解問題 評論文 Ｂ１ 各３点 １２点
★文章全体のテーマを考えて

問１《易》Statistics show that about 1.3 million people around the world die in vehicle accidents every
year, and that more than 90% of accidents are caused by drivers' mistakes.より①「自動車衝突事
故の大多数は人間のミスが原因だ」が正解。

問２ In this case, the car did not recognize a woman as a person it must stop for, because she
was not in a designated crosswalk. The car's software was not aware that sometimes people do not
follow the rules of the road. より②「自動運転車がその状況を理解するようプログラムされてい
なかった」

問３《難》 While these animals might seem similar when detected by the sensors on a self-driving
car, they tend to behave differently, and pose different dangers, when faced with a vehicle on a
rural road. ④「自動運転車が間違ったやり方で反応してしまうかもしれないシナリオ」

問４ 新傾向 《難》結論は最終文。Supporters of technology argue that the goal of far greater
safety in the future is worth the risk today. ③「自動運転車のテスト走行は何らかの危険を伴う
が、ゆくゆくは道路の安全につながっていく可能性が高い」英文全体の要約をさせる問題。

第６問Ｂ 読解問題 評論文 Ｂ１ 各３点 １２点
問１ Some people believe that women are unfit to hold office, claiming that their

moods change frequently and that they are too delicate to participate in serious arguments.
Others worry that women will easily give in to the demands of other countries. →②「政治的な議
論をするのがあまり上手くないとみなされている」

問２ On average, only 20% of parliament members in Asia are female. Sub-Saharan Africa has a
higher percentage of women in parliament than Asia, while the Middle East has a slightly lower
percentage than Asia, and Pacific nations have the lowest percentage. これに相当するグラフは①。

問３《難》 Women often act as political leaders by increasing the number of cooperative projects
between political parties and bringing issues of equality and human rights to the public's attention.①
「女性の政治リーダーはしばしば諸政党があるプロジェクトで協力するのを手助けする」
Although the Rwandan president is male, the country's parliament has the most female participation of
any government, with women occupying over 61.3% of seats. Only two other countries, Cuba and
Bolivia, have parliaments with more than half of the seats occupied by women. ③「議員の過半数が
女性である議会を持つ国は三カ国しかない」

問４ 新傾向 第１段落 女性の政治参加が少ない → 第２段落 女性の政治参加を阻む問

題点 → 第３段落 政治進出徐々に増大 → 第４段落 女性の活躍と認知 ⇒ ①「女

性の政治参加の増加」 タイトル付けの問題。パラグラフごとに要旨のメモを。


